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��� /DWDU�%HODNDQJ�3HQHOLWLDQ

3HQGLGLNDQ�PHUXSDNDQ�VXDWX�KDO�\DQJ�VDQJDW�SHQWLQJ�GDQ�PHQGDVDU�EDJL�VHWLDS�

RUDQJ��6HSHUWL�\DQJ�WHUWXDQJ�GDODP�8QGDQJ�8QGDQJ�1RPRU����7DKXQ������7HQWDQJ�

6LVWHP�3HQGLGLNDQ�1DVLRQDO��GL�VDQD�GLMHODVNDQ�EDKZD�SHQGLGLNDQ�GLODNVDQDNDQ�XQWXN�

PHQJHPEDQJNDQ� SRWHQVL�� VSLULWLXDO�� NHSULEDGLDQ�� NHFHUGDVDQ�� DNKODN� VHUWD�

NHWHUDPSLODQ� \DQJ� GLSHUOXNDQ� ROHK� DQDN�� 2OHK� VHEDE� LWX� VDQJDWODK� SHQWLQJ� EDJL�

VHEXDK� OHPEDJD� SHQGLGLNDQ� XQWXN� PHPHQXKL� VHJDOD� DVSHN� \DQJ� GLSHUOXNDQ� ROHK�

VLVZD� WHUVHEXW�� 'DODP� 8QGDQJ�8QGDQJ� WHUVHEXW� GLVHEXWNDQ� MXJD� EDKZD� :DUJD�

1HJDUD� \DQJ�PHPLOLNL�NHODLQDQ� ILVLN�� HPRVLRQDO��PHQWDO�� LQWHOHNWXDO�GDQ�DWDX� VRVLDO�

EHUKDN� PHQGDSDWNDQ� SHQGLGLNDQ� NKXVXV�� $UWLQ\D�� DQDN� EHUNHEXWXKDQ� NKXVXV� MXJD�

EHUKDN�PHQGDSDWNDQ�SHQGLGLNDQ�\DQJ�OD\DN GDQ�VHJDOD�DVSHN�\DQJ�WHUFDQWXP�GDODP�

8QGDQJ�8QGDQJ� WHUVHEXW� WHUFDSDL�� 0HQXUXW� *DQGD� 6XPHNDU� ������� KOP�� ���

PHQ\DWDNDQ� EDKZD� ³$QDN� EHUNHEHWXKDQ� NKXVXV� DGDODK� DQDN�DQDN� \DQJ�PHQJDODPL�

SHQ\LPSDQJDQ��NHODLQDQ�DWDX�NHWXQDDQ�GDODP�VHJL�ILVLN��PHQWDO�HPRVL�GDQ�VRVLDO��DWDX�

JDEXQJDQ� GDUL� KDO�KDO� WHUVHEXW� VHGHPLNLDQ� UXSD� VHKLQJJD� PHUHND� PHPHUOXNDQ�

SHOD\DQDQ� SHQGLGLNDQ� \DQJ� NKXVXV� \DQJ� GLVHVXDLNDQ� GHQJDQ� SHQ\LPSDQJDQ��

NHODLQDQ�� DWDX� NHWXQDDQ� PHUHND´�� $GDSXQ� VDODK� VDWX� \DQJ� WHUPDVXN� GL� GDODPQ\D�

DGDODK�DQDN�WXQDQHWUD��\DLWX�LQGLYLGX�\DQJ�PHPLOLNL�KDPEDWDQ�SHQJOLKDWDQQ\D�

$QDN� WXQDQHWUD� VHQGLUL� PHUXSDNDQ� VDODK� VDWX� ZDUJD� QHJDUD� \DQJ� EHUKDN�

PHQGDSDWNDQ� SHOD\DQDQ� SHQGLGLNDQ� NKXVXV� WHUVHEXW�� 6HWHODK� PHQGDSDWNDQ�

SHQGLGLNDQ�� DQDN� WXQDQHWUD� SXQ� WHQWX� VDQJDWODK� SHQWLQJ�PHQGDSDWNDQ� SHPEHODMDUDQ�

NHWHUDPSLODQ�NHWHUDPSLODQ�\DQJ�GDSDW�GLMDGLNDQ�VHEDJDL�EHNDO�PHUHND�GL�PDVD�\DQJ�

DNDQ� GDWDQJ�� 0HQXUXW� 1DQD� 6XGMDQD� ������� KOP�� ���� PHQ\DWDNDQ� EDKZD�

³.HWHUDPSLODQ� DGDODK� SROD� NHJLDWDQ� \DQJ� EHUWXMXDQ�� \DQJ� PHPHUOXNDQ� PDQLSXODVL�

GDQ�NRRUGLQDVL�LQIRUPDVL�\DQJ�GLSHODMDUL��.HWHUDPSLODQ�LQL�GDSDW�GLEHGDNDQ�PHQMDGL�

GXD� NDWHJRUL�� \DLWX� NHWHUDPSLODQ� ILVLN� GDQ� NHWHUDPSLODQ� LQWHOHNWXDO�´��$UWLQ\D� WLGDN�

KDQ\D� PDVDODK� DNDGHPLN� VDMD� DWDX� NHWHUDPSLODQ� LQWHOHNWXDO� VDMD� \DQJ� KDUXV� DQDN�
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WXQDQWHUD�GDSDWNDQ�GL�VHNRODK�PHODLQNDQ�NHWHUDPSLODQ�MXJD�GLSHUOXNDQ��+DO�GHPLNLDQ�

WHQWXODK� VDQJDW� EHUJXQD��PHUHND� ELVD�PHQMDGLNDQ� NHWHUDPSLODQ� \DQJ�PHUHND�PLOLNL�

VHEDJDL� VDODK� VDWX�FDUD�GDODP�EHUWDKDQ�KLGXS�GL�PDVD�\DQJ�GHSDQQ\D�PHODOXL�PDWD�

SHQFDKDULDQQ\D��

.HWHUDPSLODQ� MXJD� PHQ\DQJNXW� EHUEDJDL� NHFDNDSDQ� KLGXS� �OLIH� VNLOOV�� VHSHUWL�

NHWHUDPSLODQ� SHUVRQDO�� NHWHUDPSLODQ� DNDGHPLN�� NHWHUDPSLODQ� VRVLDO� PDXSXQ�

NHWHUDPSLODQ�YRNDVLRQDO��$NDQ OHELK�EDLN�MLND�VHPXD�DVSHN�WHUVHEXW�WHUSHQXKL�GHQJDQ�

FDUD�WHUXV�PHQHUXV�GLODWLK�GDQ�GLELPELQJ�DJDU�WHUXV�EHUNHPEDQJ��

%HEHUDSD� 6HNRODK� /XDU� %LDVD� �6/%�� VXGDK� PHPLOLNL� SURJUDP� \DQJ�

GLODNVDQDNDQ� XQWXN� PHQJHPEDQJNDQ� NHWHUDPSLODQ� SDGD� DQDN� WXQDQHWUD� WHUVHEXW��

'LDQWDUDQ\D� 6/%� 1HJHUL� &LWHXUHXS� \DQJ� PHPLOLNL� SURJUDP� NKXVXV� \DQJ�

GLODNVDQDNDQ� GL� VHNRODKQ\D�� 6/%� 1HJHUL� &LWHXUHXS� PHUXSDNDQ� VHNRODK� \DQJ�

PHPEHULNDQ� SHOD\DQDQ� SHQGLGLNDQ� NKXVXV� EDJL� DQDN� \DQJ� PHQJDODPL� KDPEDWDQ�

GDODP� SHQJOLKDWDQ�� +DO� WHUVHEXW� PHUXSDNDQ� VDODK� VDWX� XVDKD� \DQJ� GLODNXNDQ� ROHK�

VHNRODK�XQWXN��PHPEHULNDQ�NHWHUDPSLODQ�XQWXN�DQDN�VHEDJDL EHNDO�GDODP�PHQMDODQL�

NHKLGXSDQ� GL� PDVD� \DQJ� DNDQ� GDWDQJ�� 6HNRODK� WHUVHEXW� PHODNVDQDNDQ� EHEHUDSD�

SURJUDP�NHWHUDPSLODQ�PHODOXL�SHPEHODMDUDQ�YRNDVLRQDO��0HQXUXW�.%%,�9RNDVLRQDO�

\DLWX� EHUVDQJNXWDQ� GHQJDQ� �6HNRODK�� NHMXUXDQ�� EHUVDQJNXWDQ� GHQJDQ� ELPELQJDQ�

NHMXUXDQ�� 'HQJDQ� GHPLNLDQ� VHNRODK� PHQJKDUDSNDQ� EDKZD� VHWHODK� DQDN� OXOXV� GDUL�

VHNRODK��LD�PHPLOLNL�VXDWX�NHDKOLDQ�GDODP�ELGDQJ�WHUWHQWX�

$GDSXQ� PHODOXL� DUWLNHO� \DQJ� GLWHUELWNDQ� ROHK� 7ULEXQ� -DEDU� \DQJ� EHUMXGXO�

³6/%1�&LWHXUHXS�%HNDOL�.HWHUDPSLODQ�.KXVXV�%DJL�3DUD 6LVZDQ\D�GHQJDQ�%HUEDJDL�

)DVLOLWDV� 0HQGXNXQJ´� \DQJ� GLWHUELWNDQ� SDGD� WDQJJDO� �� 1RYHPEHU� ������ .HSDOD�

6HNRODK�6/%1�&LWHXUHXS�6XGDUPDQ�PHQJDWDNDQ�EDKZD�XQWXN�SURJUDP�VHNRODK�\DQJ�

EHUNDLWDQ� GHQJDQ� NHWHUDPSLODQ� WHUVHEXW� PHUXSDNDQ� SHUVLDSDQ� GDQ� VHEDJDL� PRGDO�

NHPDQGLULDQ� SDUD� VLVZDQ\D� VHWHODK� OXOXV� QDQWL�� %DKNDQ� XQWXN� WXQDQHWUD� VHQGLUL�

GLVLDSNDQ� PDVVDJH� DWDX� NHWHUDPSLODQ� PHPLMLW�� $QDN�DQDN� WXQDQHWUD� \DQJ� VXGDK�

SDQGDL� PHPLMLW� SXQ� VXGDK� PHPLOLNL� ODQJJDQDQ� WHUVHQGLUL�� GDQ� GDSDW� GLJXQDNDQ�

VHEDJDL� EHNDO� DWDX� ELD\D� KLGXSQ\D� VHQGLUL�� � +DO� GHPLNLDQ� PHQMDGL� NHXQWXQJDQ�

WHUVHQGLUL�EDJL�DQDN�DQDN�\DQJ�EHUVHNRODK�GL�VDQD��6HODLQ�PHQGDSDWNDQ�SHQJHWDKXDQ�
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GDUL� ELGDQJ� DNDGHPLNQ\D�� DQDN�DQDN� GL� VDQD� SXQ� GDSDW� PHQLPED� EHUEDJDL� PDFDP�

NHWHUDPSLODQ� \DQJ� FXNXS� PHQMDQMLNDQ� EDJL� PDVD� GHSDQ� PHUHND� VHEDJDL� PDWD�

SHQFDKDULDQQ\D�

1DPXQ��NRQGLVL�GL� ODSDQJDQ�NLQL� VDQJDW�EHUEHGD��3DQGDQJDQ�PDV\DUDNDW�SDGD�

LQGLYLGX� WXQDQHWUD� WHUNDGDQJ� WLGDN� EDLN�� 6HULQJNDOL� GDODP� PDV\DUDNDW�� WXQDQHWUD�

GLDQJJDS�WLGDN�PDPSX�PDQGLUL�GDQ�WLGDN�ELVD�PHODNXNDQ�DSDSXQ��%HJLWXSXQ�GHQJDQ�

SHPLMDW� WXQDQHWUD��PDV\DUDNDW� OHELK�PHPLOLK�XQWXN�PHQJJXQDNDQ� MDVD�SHPLMDW�DZDV�

NDUHQD� GLDQJJDS� OHELK�PDPSX�GDQ� GDUL� SHQDPSLODQ� SXQ� RUDQJ� DZDV� OHELK� UDSL� GDQ�

PHQDULN� VHKLQJJD� PLQDW� PDV\DUDNDW� SDGD� SHPLMDW� WXQDQHWUD� PHQMDGL� PHQXUXQ��

%HUGDVDUNDQ�DUWLNHO�\DQJ�GLWHUELWNDQ�ROHK�2NH]RQH�\DQJ�EHUMXGXO�³-HULW�+DWL�SHPLMDW�

7XQDQHWUD´�\DQJ�GLWHUELWNDQ�SDGD� WDQJJDO����2NWREHU������� VDODK� VDWX�SHPLMDW�\DWX�

$MDW�PHQJDWDNDQ� DKZD�� MDVD� UHIOHNVL�� VSD�� ERG\�PDVVDJH DWDX� SLMDW� GHQJDQ� IDVLOLWDV�

OHELK�PRGHUQ�³PHQHQJJHODPNDQ´�MDVD�SDQWL�SLMDW�WXQDQHWUD��

%HUGDVDUNDQ�XUDLDQ�SHUPDVDODKDQ�\DQJ�DGD�GL� ODSDQJDQ��PDND�SHQHOLWL� WHUWDULN�

XQWXN� PHODNXNDQ� SHQHOLWLDQ� PHQGDODP� PHQJHQDL� EDJDLPDQD� SHODNVDQDDQ SURJUDP

SHPEHODMDUDQ� NHWHUDPSLODQ� YRNDVLRQDO� \DQJ� GLODNVDQDNDQ� XQWXN� PHQJRSWLPDONDQ�

NHPDPSXDQ� DQDN� WXQDQHWUD� GDODP� PHQJHPEDQJNDQ� NHWHUDPSLODQQ\D� PHODOXL�

SHQHOLWLDQ�\DQJ�EHUMXGXO�³�3URJUDP�3HPEHODMDUDQ�.HWHUDPSLODQ�9RNDVLRQDO�0DVVDJH

3DGD�$QDN�7XQDQHWUD�'L�6/%�1HJHUL�&LWHXUHXS´�

��� )RNXV�0DVDODK�3HQHOLWLDQ

3HQHOLWLDQ� LQL� GLIRNXVNDQ� SDGD� KDO� \DQJ� EHUNDLWDQ� GHQJDQ� ³%DJDLPDQDNDK�

SURJUDP�SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO��PDVVDJH SDGD�DQDN�WXQDQHWUD�GL�6/%�

1HJHUL�&LWHXUHXS"´

8QWXN�PHQGDSDWNDQ� GDWD� \DQJ� GLSHUOXNDQ� GDODP� SHQHOLWLDQ� LQL��PDND� GLDMXNDQ�

SHUWDQ\DDQ�SHQHOLWLDQ�GL�EDZDK�LQL�

�� %DJDLPDQD�SHUHQFDQDDQ�SURJUDP�SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�PDVVDJH

SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS�"

�� %DJDLPDQD�SHODNVDQDDQ�SURJUDP�SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�PDVVDJH�

SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS�"
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�� %DJDLPDQDNDK� HYDOXDVL� SURJUDP�SHPEHODMDUDQ� NHWHUDPSLODQ� YRNDVLRQDO�PDVVDJH

SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS"

�� %DJDLPDQD�WLQGDN�ODQMXW�SURJUDP�SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�PDVVDJH�

SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS"

��� 7XMXDQ�3HQHOLWLDQ

3HQHOLWLDQ� LQL� PHPLOLNL� WXMXDQ� WHUWHQWX� \DQJ� LQJLQ� GLFDSDL� SDGD� SURVHVQ\D��

$GDSXQ�WXMXDQ�WHUVHEXW�GLMDEDUNDQ�VHEDJDL�EHULNXW�

D� 7XMXDQ�8PXP

$GDSXQ� WXMXDQ� XPXP� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHPSHUROHK�

JDPEDUDQ�PHQJHQDL�SHODNVDQDDQ�SURJUDP�SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�

PDVVDJH SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS�

E� 7XMXDQ�.KXVXV

7XMXDQ�.KXVXV�GDUL�SHQHOLWLDQ�DGDODK�VHEDJDL�EHULNXW�

D� 0HQJHWDKXL�SHUHQFDQDDQ�SURJUDP�SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�

PDVVDJH�SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS�

E� 0HQJHWDKXL��SHODNVDQDDQ�SURJUDP�SHPEHODMDUDQ�NHWHUDPSLODQ�YRNDVLRQDO�

PDVVDJH SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS�

F� 0HQJHWDKXL� KDVLO� GDUL� � HYDOXDVL� SURJUDP� SHPEHODMDUDQ� NHWHUDPSLODQ�

YRNDVLRQDO�PDVVDJH�SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS�

G� 0HQJHWDXL� WLQGDN� ODQMXW� GDUL� SURJUDP� SHPEHODMDUDQ� NHWHUDPSLODQ�

YRNDVLRQDO�PDVVDJH SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS�

��� 0DQIDDW�3HQHOLWLDQ

3HQHOLWLDQ�LQL�GLKDUDSNDQ�GDSDW�PHPEHULNDQ�PDQIDDW�DWDX�NHJXQDDQ�EDLN�VHFDUD�

WHRULWLV�PDXSXQ�VHFDUD�SUDNWLV��0DQIDDW�WHUVHEXW�GLMDEDUNDQ�VHEDJDL�EHULNXW��

D� 0DQIDDW�WHRULWLV�

0DQIDDW� WHRULWLV� GDUL� SHQHOLWLDQ� LQL� DGDODK� KDVLO� GDUL� SHQHOLWLDQ� LQL� GDSDW�

GLJXQDNDQ� VHEDJDL� UXMXNDQ� EDJL� SHQHOLWL� ODLQ� XQWXN� PHQJHWDKXL� SHQJHPEDQJDQ�

NHWHUDPSLODQ�\DQJ�GLPLOLNL�ROHK�DQDN�WXQDQHWUD�PHODOXL�SHPEHODMDUDQ�YRNDVLRQDO�

PDVVDJH GL�VHNRODK�
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E� 0DQIDDW�SUDNWLV�

0DQIDDW� SUDNWLV� GDUL� SHQHOLWLDQ� LQL� DGDODK� KDVLO� GDUL� SHQHOLWLDQ� LQL� GDSDW�

GLJXQDNDQ� VHEDJDL� PDVXNDQ� EDJL� VHNRODK� GDODP� PHQJHPEDQJNDQ� SURJUDP�

NHWHUDPSLODQ� YRNDVLRQDO� EDJL� DQDN� WXQDQHWUD GDQ�PHPSHUOXDV� SHQJHWDKXDQ� GDQ�

SHPDKDPDQ� GDODP� SHODNVDQDDQ� SHPEHODMDUDQ� NHWHUDPSLODQ� YRNDVLRQDO�PDVVDJH

WHUVHEXW�

��� 6WUXNWXU�2UJDQLVDVL�6NULSVL

3HQHOLWLDQ�NXDOLWLWDI�GHVNULSWLI�LQL�GLWXOLV�EHUGDVDUNDQ�VLVWHPDWLND�\DQJ�EHUODNX�

GL� 8QLYHUVLWDV� 3HQGLGLNDQ� ,QGRQHVLD�� 3HQHOLWLDQ� PHQJHQDL� SURJUDP� SHPEHODMDUDQ�

NHWHUDPSLODQ�YRNDVLRQDO�PDVVVDJH�SDGD�DQDN�WXQDQHWUD�GL�6/%�1HJHUL�&LWHXUHXS�LQL�

WHUGLUL�GDUL�OLPD�EDE��GHQJDQ�ULQFLDQ�SHQXOLVDQ�\DLWX�VHEDJDL�EHULNXW�

%DE� ,�PHUXSDNDQ� SHQGDKXOXDQ� \DQJ� GL� GDODPQ\D�PHOLSXWL� SHPDPSDUDQ� ODWDU�

EHODNDQJ� SHQHOLWLDQ�� IRNXV� SHQHOLWLDQ�� WXMXDQ� SHQHOLWLDQ�� PDQIDDW� SHQHOLWLDQ� GDQ�

VWUXNWXU� RUJDQLVDVL� VNULSVL�� %DE� ,� LQL� PHPEHULNDQ� JDPEDUDQ� XPXP� NHVHOXUXKDQ�

PHQJHQDL�LVL�GDUL�WXOLVDQ�EHVHUWD�EDWDVDQ�PDVDODK�XQXWXN�SHODNVDQDDQ�SHQHOLWLDQ�LQL�

%DE� ,,� PHUXSDNDQ� SHQMHODVDQ� WHRUL� PHQJHQDL� IRNXV� PDVDODK� \DQJ� GLDQJNDW�

GDODP�SHQHOLWLDQ�LQL�\DLWX�PHQJHQDL�SURJUDP�SHPEHODMDUDQ�NHWHUPDSLODQ�YRNDVLRQDO�

PDVVDJH�SDGD�DQDN�WXQDQHWUD�

%DE� ,,,� EHULVL� SHQMHODVDQ�PHQJHQDL�PHWRGH� SHQHOLWLDQ� \DQJ� GLJXQDNDQ� GDODP�

SHQHOLWLDQ�LQL�\DLWX�SHQHOLWLDQ�NXDOLWLWDWLI�GHQJDQ�PHWRGH�GHVNULSWLI��'LPDQD�VXVXQDQ�

GLGDODPQ\D�PHOLSXWL�GHVDLQ�SHQHOLWLDQ��SDUWLVLSDQ��WHPSDW�SHQHOLWLDQ�� LQVWUXPHQ�GDQ�

WHNQLN�SHQJXPSXODQ�GDWD��SHQJXMLDQ�NHDEVDKDQ�GDWD�GDQ�DQDOLVLV�GDWD�

%DE� ,9�PHUXSDNDQ�SHPEDKDVDQ�GDUL�KDVLO�SHQHOLWLDQ�\DQJ�GLGDSDWNDQ� VHODPD�

PHODNXNDQ�SHQHOLWLDQ�WHUVHEXW�

%DE�9�PHUXSDNDQ�NHVLPSXODQ�GDQ�UHNRPHQGDVL�\DQJ�PHQ\DMLNDQ�NHVHOXUXKDQ�

SHODNVDQDDQ�SHQHOLWLDQ��


